
Thursday 11th June 2020 

Happy Thursday Year 6. Hope you are all well, working hard and being the best that we can be! My 

family and I have been really enjoying the Springwatch series that airs on BBC2. Springwatch is a 

programme that looks closely at the nature around us. From bees to butterflies, birds to insects and 

much more. There is a weekly show (all the episodes in the series so far are available on the BBC 

iplayer) but most exciting of all is the Springwatch website where there are many exciting things to 

do – including watching live cameras of various nests where you might be lucky enough to catch eggs 

hatching. I would encourage you to go and take a look. 

Episodes of Springwatch on iplayer: https://www.bbc.co.uk/programmes/b007qgm3/episodes/player  

Springwatch Website: https://www.bbc.co.uk/programmes/b007qgm3  

 

Ok here are the answers to yesterday’s maths for you to check out. How did you get on? 

Section A  

1. 304 – 50 = 254 

2. 1200 – 75 = 1125 

3. 3002 – 11 =2991 

4. 5009 – 30 =4979 

5. 2100 – 57 =2043 

6. 4003 – 17 =3986 

7. 10,000 – 500 = 9500 

8. 8000 – 800 = 7200 

9. 12,000 – 30 = 11,970 

10. 700 – 25 = 675 

11. 6006 – 25 = 5981 

12. 5005 – 300 = 4705 

13. 4900 – 101 =4799 

14. 1010 – 100 =910 

15. 2009 – 109 =1900 

Section B 
1. 6003 – 70 = 5933 

2. 10,006 – 27 =9979 

3. 17,000 – 150 =16850 

4. 40,000 – 75 =39925 

5. 90,005 – 18 =89,987 

6. 32,000 – 7 =31,993 

7. 80,000 – 350 =79,650 

8. 90,500 – 1200 =89,300 

9. 250,000 – 50 =249,950 

10. 15,100 – 5,500 =9,600 

11. 12,300 – 850 =11,450 

12. 100,000 – 100 =99,900 

13. 200,000 – 2000 =198,000 

14. 67,050 – 180 =66,870 

15. 34,004 – 29 =33,975 

Section C 
1. 17,005 – 47 =16,958 

2. 20,001 – 300 = 19,701 

3. 400,000 – 500 = 399,500 

4. 900,000 – 50 =899,950 

5. 750,000 – 1,200 =748,800 

6. 67,002 – 88 = 66,914 

7. 1,000,000 – 30 =999,970 

8. 4,000,000 – 75 = 3,999,925 

9. 500,000 – 7 = 499,993 

10. 900,500 – 2,000 = 898,500 

11. 300,006 – 25 = 299,981 

12. 250,000 – 267 =249,733 

13. 1,000,000 – 2,000 = 998,000 

14. 1,000,100 – 800 = 999,300 

15. 560,010 – 128 =559.882 

 

 

https://www.bbc.co.uk/programmes/b007qgm3/episodes/player
https://www.bbc.co.uk/programmes/b007qgm3


Maths Task 1 – Mixed Arithmetic 

1. 14 x _____ = 84  

2. 8.04 x 100 = _____  

3. Calculate: 6 + 8 x 3                           (BEWARE BODMAS!)  

4 Change 60% into a fraction: = ………………..  

5. What is the change from £10 after buying three books at £3.17 each?  

6. Circle the prime numbers:  15   55   5   23   39 

7. Round 566,611 km to the nearest 1000 km. ________km  

8. Round 6.534 kg to nearest whole kg. ______kg  

9. 1160 ÷ 8 = _____  

10. 1848 ÷ 6 = _______  

11. Two angles of a scalene triangle are 83° and 72°.  

What is the size of the third angle? ________ degrees  

12. Which is more 20% of 80 or ¼ of 60? 

13. The temperature is -6°C. The temperature increases by 13 degrees. What is the new 

temperature?  

14. If 8a – 6 = 10, what is the value of a ? ______  

15. Write 567 in Roman Numerals 

16. 10 x 12 x 3 = ______ 17. 24,385 – 6,950 = _________  

18. The three angles of a quadrilateral are 100º, 140º, 40º.  

What is the size of the other angle? ______º  

19. add ¾ and 1/12=  

20. What is 30% of 900 

21. What is half of 14 kg 500 g. _________  

22. 256 x 29 

23. 56,878 + 234 + 256,988 = 

24. 1245 x 15 = ________  

25. A bike costs £250 – it is reduced in the sale by 40% - What is its new price? 

26. 3 – 0.786 = 

27. 4.1 + 3.985 = 

28. Two cube numbers add up to 65 – what are they? 

29. 1200 x 12 = 

30. Find the mean of the following numbers? 7     8     3     6     11      4      10 

 

I will send the answers with your work tomorrow. 

 

English Task 1 – Reading  

 

Use your logins for Purple Mash to continue reading ‘Buster’s Blitz’. I’ve added the next 

chapter to your 2dos along with a quiz to test your understanding of the chapter.  

 



English Task 2 – Pronouns 

Read the information box to remind you about pronouns. (pronouns replace the noun) 

 

Follow the instructions to complete the task.  

 

 
 



Task 3 – Earthquakes 

Have a read about earthquakes. How they occur and the damage they can do. When you have read the 

information can you have a go at completing the sentences in the activity below.  

 

 

 



 

 
 

 

 

 

 

 

 

 



 

 

 

You may want to copy the Richter Scale table – you could also colour code it.       

Keep safe everybody. 

Mr Thompson 


